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Quiz 2
You must show all work to receive full credit!!

Problem 1. (2 pts) If v x w = (4,-2,5), find w X (v + w).

Wx (V+W) = (Wx V) + (RxW) = = (Ix@) + ©
= — $%,-3,5)
= <-4,3,-55]

Problem 2. (4 pts) Find the scalar equation of the plane containing the vectors (1, —5, 3)
and (2,7, —4) and passing through the point (—2, 8, 3).

A= {1,-535x<2,7,-4>= [t J K]|-= (30207 = (-4-6)] + (7- (<)) k
L -5 3
2 7 4| T <Thiles7>

dX+2, Yy=%,2-3> - o, 17> =0

—X-2+ loy =80 +172-51 =0

[~ X Hloy + 172 = 133]
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Problem 3. (4 pts) A quadric surface is given by the equation z = (z) + (%) . Find
the traces obtained by intersecting the surface with the planes z = 1, y = 0, and = = 0,

and use this information to classify the quadric surface (what type is it?).
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